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- (10%) Players AandB tossfa f'jlu 15:9“3 order The first one to throw

sn; wms What are their respective chances of winning? -

. .(10%) Suppose that the dlstnbutlon of scores ona statlstlcs mldterm

exam of NCNU stidents has mean 75 and standard dev1at10n 10. What -

- isthe’ upper bound for the pr@ﬂﬁy{h ta student faﬂed in this - l
o !

‘exam? - B

"‘*’J....J

“,ﬂ“'\--mw




Bl 3 % i Bl IS K% 101 2 4 % o8 38 AR - fE M B 92 AP 3R

MH: ﬁ*f% A " - SEiE: o IEY-¥
) 1ERFEE » ISR » TUNE -

iEee 313 S | e D EEMRREREEL  SAFER | O 2 K

S | : . IRFERE | RERIFE | HEARERNE B2 H

6. (30%) A mobﬂe pongé company clalms that at most 10% of i 1ts product
needed any type of repair in the ﬁrst two years. [ a sample of 10000
‘ customers, 1100 needs repau jied thé ﬁrs two years To check whether :
this data dlsagrees Wlﬂ:l f this company, please complete the
. followmg hypothes1s—test tﬂh . (Hint: Using Central Limit - -
" Theorem, a binomial distribution can be approximated byﬁor;nal :
disﬁibuﬁon when the sample size is large enoﬁgh.) |
.. M State the ncll hypothesis and alternate hypothesis.
| (2)Select the proper test ste,:tjc P~ |

X o
(3) Let the level of signifig b‘e*Q“O formulate the dec:1s1on rule.

* e

. (4)Make decision and expjain

Let z is standard normal random variable, we have
" P(z<054)=07, P(z<0,67)=0.75 , P(z<085=08, P(z<103)= 085,

P(z<1.28)=09, P(z<1.64)=095, ‘.P(z <1.96)=0.975, P(z £257)=0.99..
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